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7* 7t What brought you to economics in the first place and how would
you describe your research in the early years of your career?
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Can you give us a short ‘insider’ story of the growing dissatisfaction
with the general equilibvium project—the role of the Sonnenschein-
Mantel-Debreu results for instance?
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Your recent book is called Complex economics (Kirman 2011). Many
economists in the last twenty years or so have endorsed similar labels.
What does ‘complexity’ amount to? How did you shift from general
equilibrium to this other project?
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The term ‘microfoundations’ is highly popular in economics. Would
you say that your own approach is critical of the quest for
microfoundations or that it is only critical of the specific
‘microfoundations’ in vogue in economics?
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You reject the standard rationality assumptions in economics. What
are your reasons for doing so? What are the substitutes?
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You display some sympathy with the project in behavioural
economics to supply psychologically-refined assumptions regarding
economic agents. At the same time, you assert that we have much to
learn from studies of ants, bees, and other social animals which can
be modelled as acting based on simple behavioural rules. Are these
two lines of inquiry—refining the psychology of our modelled agents
and looking for simple behavioural rules—not in tension?
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You have made many contributions to the difficult question of how to
connect macro-patterns to the behaviour of agents. What are the main
results regarding this question? For instance, can you tell us about
your fascinating work on fish markets?

TA /= *6=A. 436A ?%6 6 ?1 ., [06.6/9 I(



$
1$ 8
g
1 Q1
)IQ
1
"$
I
3 C
8
g
>$ 8
8
$ 1 L
C
59
$
0
>&
1
8
8
1

>?°

4

8

. &A/

$

- HO.

TAJ97



4 _&A/ _HI. 7A39%7

$ "E08 "0 " 0 '8 $
$" : $

The term ‘collective rationality’ is in the subtitle of your recent book.
What do you mean by it? How does it relate to our usual
understanding of individual rationality?
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Some might conclude from a discovery of ‘collective rationality’ that
it is acceptable to simply use techniques that concern themselves with
analysing the aggregate level only. Since connecting the behaviour
of individuals to macro-patterns is so difficult, such an approach is
certainly analytically appealing. What would you say of such an
alternative?
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You often use the term ‘emergence’ in your own work. What
do you mean by it? Among the many interpretations of emergence
in philosophy (see O’Connor and Wong 2009), at least one, the
irreducible-pattern interpretation, seems to imply that one would
not be able to analyse some aggregate-level, emergent properties in
terms of the interactions of units at a lower level (e.qg., individuals).
But your strategy seems to be exactly that. Why should we expect the
study of individual-level interactions to be a fruitful way to analyse
aggregate-level properties if the latter are deemed emergent?
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One main argument—if not the main argument—in your recent book
is that “direct interaction between agents plays a crucial role in
determining aggregate outcomes” (Kirman 2011, 35). What is so
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“crucial” about it? Is it that direct interaction is more “crucial” than
other elements—e.q., the behavioural rules of the agents themselves?
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You seem to be saying that it is crucial for us to look at interactions
because they are usually missing from our usual story of how
economies work. There would be another interpretation of “crucial”
which would be something like the following. One starts with
the proposition that aggregate outcomes are determined by the
properties of individuals—i.e., the rules they follow—and by
the structure of their interactions. The structure of interactions would
be “crucial” in the sense that the aggregate outcome will be more
sensitive to changes in the structure of interactions than to changes
in behavioural rules; changing the interactions a bit modifies the
aggregate outcome, while this outcome stays the same for a broad
spectrum of behavioural rules. Would you also subscribe to this
interpretation of “crucial”?
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The typical way of modelling interactions between agents in
economics would be to use game theory. But you express some
dissatisfaction with game theory. Is not game theory more flexible
than you depict it? Do your criticisms apply as well to evolutionary
game theory for instance?
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You favour agent-based modelling as an alternative method to study
agents’ interactions. Can you sketch the characteristics of this
method?
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What would you say are the most important insights delivered by
agent-based modelling in economics so far? Whose work do you

particularly admire?
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Some scholars seem to believe that agent-based modelling offers a
powerful tool for policy analysis. For instance, Robert Axtell says:
“With that machine full of agents you can find out what processes
give the empirical data on the distribution of real income and wealth.
Then you can move them out for three years and see what happens.
I think it’s a new way to do macroeconomics; it’s a new way to do
policy” (interviewed in Colander, et al. 2004, 285). What kinds of
policy questions do you believe agent-based modelling is capable
of addressing?
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What about the work of Andy Haldane of the Bank of England?
He seems to be trying to use these sorts of techniques to try and get a
better understanding of what “Too Big to Fail” actually means—at the
moment it seems a bit of an empty slogan?
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Summing up then, something like system resilience would be a policy
dimension that network theory and agent-based modelling can
contribute to.
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Continuing with policy matters, let us return to the problem raised by
David Colander that you mentioned earlier. He expresses some
scepticism about the capacity of agent-based modelling to offer clear
policy advice: “When you have models with multiple equilibria, path
dependency, nonlinear dynamics, endogenous tastes, institutional
restrictions, and hysteresis, there are so many degrees of freedom
that theory presents little in the way of restrictions on policy.
With that many degrees of freedom, a sufficiently capable modeler
can devise a theoretical model to support any policy” (Colander 2003,
20-21). What is your opinion about the prospects for agent-based
policy analysis? Do you think that we can gather enough evidence
to constrain our model specifications?
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In your recent book, one finds a lot of terms like ‘understand(ing)’ and
‘explain(ing)’. In contrast, you seldom use terms like ‘predict(ing)’,
‘forecast(ing)’, ‘control(ing)’, ‘intervening’ and ‘policy making’. What
would you reply to someone who believes that economics is primarily
in the business of predictions and policy recommendations and that,
while your enterprise is perhaps valuable for explanatory purposes,
it is of little use in the pursuit of these goals?

/7 $ " tE 1:
9 $ " 8 $ 1"
8 $ "o
8 . 8 $ 8 1 $ 1
8 9 : 8
$ 8 F 9 1
9 1 $3$ $
9 9 8 1
8
C * 1 $
g
+ :$ 1 8 $ $
7 = $ 8 $ =
$L 1 3
C 3 " t E . $ $
5 CF 9 8" NG 8 K
1 $ $ 8 $
9 1% $ 8 8 1
E toon FK
. $ "
N "$

TA /= *6=A. 436A 246 6 ?1 ., [06_.6/90 5



4 _&A/ _HI. 7A39%7

8 8 "8 :8 " "% 2,
$ 8 ) $ 29 1% "
9 1 9 1
8 9 9 $
8 g $ "
. o
$ 8 S $ 1 8
$ 8 8 "9 8
C 8 + ;
$ 8 Q $ tE 8

We also want to ask you about your feelings toward the use of
mathematics in economics. Many heterodox economists argue that
there is too much mathematics expected of economists, and that the
profession has become obsessed with being overly formal. How do
you think economists should use mathematics?
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Is it possible for you to summarize your diagnosis of the state of
macroeconomics?
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That was the diagnosis, so now what treatment would you propose?
And how do you think the profession should reform?
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That is a bit depressing!
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So ultimately, are you optimistic or pessimistic about the profession’s
future?
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